4428 / External View

BMAZ / Components [ x®&2 : TY-34)2008.02.08

No. B# / Part name ®E / Pcs B / Material ® - XELE / Color- Finish
1 by THN—= / Top cover 1 AUn-8"%-p / Polycarbonate |3/M°b- / Light gray
2 |RT+«— 1 KN UN-KR-NTIXT74N" - I4NT b=

Base Glass fiber filled Light gray

polycarbonate

3 Ay b / Gasket 1 Y73y / Polyurethane 73v7 / Black
L |Zv ¥ / Laftch 3 A239bx / Stainless steel 38 / Unfinished
5 [ Emffx-ZAAEA(MS x 10) 6 % = ffi70x-h

Screw(M5 - 10) Steel Trivalent chromate
6 |FMERERAT R 6 2773 maig

Mounting bracket Stainless steel Unfinished
T |[EAFALCAMS x 10) 6 7S = ffi70X-h

Screw(M5 - 10) Steel Trivalent chromate
8 |# / Key 2 REbw 5 / Brass ZvY1h¥vt / Nickel plated

7130
662
626
156.5 156.5 156.5 156.5
II—H LI L H_II
L
N
=
O | N | DO [@N]
M| | N G
LN | | =
S
AN
=
6-M54 U= fyh
6-M5 Insert nut
475 36.5
lllr E Ill)
‘}‘ ) — 5 — ol |
LA | I I i
M| | | | |
N =< i | | |

6-M544-hFyh

6-M5 Insert nut

F7=-2NhWNF—% / Technical Data

REZML / Protection class P65
FEABEEEE / Operating temperature | -20C ~ +75C
WEEME 75 2/ Flammability class UL9LV-0

O

& /Title

BARHINTEBRIE | mx pERAEERCc-Tw0 | © T
THACH ETECTRONIoS FictosPRE S T2 IP65 POLYCARBONATE PLASTIC BOX with LOCK
&R /Approved | B /Checked | #B/Created 2% /Product number RE/ScaleTs
. BCPK507018S '
) iR 1/ 2
fEsE /Date  2018/09/12




Rt / Internal View

AT 14— (RR)

Base (Internal View)

6-M51y8-hFyk

730
L 1 [ 1

© ©
8 o
o o

[

m

LN
o3
Ko oS

e = ]

NS

D

E

O

N - -

(gv]

>

~

# Y, S | SRS—— ¥

= BT /Max dim. 6717

= .

i

6-M5 Insert nut

B~ /Max dim. 477

6-M5/VH-hFyh

6-M5 Insert nut

[ x®&= : TY-34)2008.02.08

73— (AR)

Cover (Internal View)

B hFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

2% /Title
B5K B EER AT B B Z\A UD-A"2-AT 3" vI2
IP65 POLYCARBONATE PLASTIC BOX with LOCK

O ]

&8 /Approved

12X /Checked

o

8IM /Created

PR

&% /Product number
BCPK507018S

RE /Scale
1:8

fERX B /Date 2018/09/12

2/ 2




	BCPK507018 Model (1)
	BCPK507018 Model (2)

